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1. Please derive the overturning speed of a vehicle for curving, v=3.,6 Wjﬁi [S:
width of the vehicle : A.: height of center of gravity . g : acceleration of gjravity; e:
superelevation; R: radius of circular curve ; centrifugal force F = my? ] (20%)
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2. The engineers debated on the pavement type adopted in the long tunnel in Taipei-Tlan
expressway. Please write down the advantages and disadvantages of rigid pavement in

the long tunnel. (20%)

3. Please explain the earthwork cumulative figure below (20%)
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4. What are the differences between the transition curves y= ﬁx and

y = RES +3L_2 coslwx>=|-1|! in railway engineering 7 (20%)
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5. What data would you need to design appropriate the locations of taxiway exits in an
airport 7 (20%)
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